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SN 2D
ZE: WY X

el AgR FEXY

Al A

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M=t 961,501 953,715 7,786
= 188,988
Al 772,513
e X 926,202 915,840 10,362
= 188,988
Al 737,214
Hgs SEXYE 165,889 152,583 13,306
NIV (= 12,560 12,360 200
201 2egh=3| 12,560 12,360 200
01 At2t2ltl 12,560 12,360 200
O)=£ 1 10,060
oXIZAl S2 S CH(2U AIAILH)
60,0003 x290H*43] 6,960
oXIZNEE LHE(2E1,SHS)
5,000 *300H+62] 900
oXIYAl Ot 2IZS M
2202 %10,0000H 2,200
ONgL=SM 7 &2 2,500
odll) oHHZ HMIZ 1,000
0= (2 HAITH)
60,0003 #2504 2 1,500
AR B2 Al =& 16,200 8,600 7,600
201 er23| 15,600 7,400 8,200
01 At2teltl 16,600 7,400 8,200
OXNEAl IISAHH =8
80& 182,500 14,600
OM=RLIad 2 (SAHEXLEH 8) 1,000
301 22N = 600 1,200 2600
14 JEt2a s 600 1,200 2600
O O0l= DISHIRAL =
100,000 *3& »23] 600
KA 2235 728 105,028 99,268 5,760
201 er23| 13,143 12,747 3%
2 5234l 13,143 12,747 3%
OXIZAl OI0|RIZ22IAIAE KL= (SEM
7,8 363,000 x 122 4,3%
OUgLTely X224 8,787
0 IEIE (SP-1360R) 377,000& * 122 4,524
0= 2IE{(SP-105) 305,250 122 4,263
308 AHXIEMSOIH 91,885 86,275 5,610
18 SIS0t HAS A 91,885 86,275 5,610
OXZN(EE, AHA SEHHAIAE 2R
(2€3) 91,884,570& x14] 91,885
NN HRAT 32,101 32,355 N2




2A:

I W8 X2
el AgR FEXY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 2,130 2,560 A430
01 At2teltl 2,130 2,560 2430
OgRE =AY 2,130
O AR & 60,0002 x20 1,200
XAl ADHE S TA
120,000& +6 720
o=AIY BE 70,0003 *32 210
202 04l 6.880 8,600 A1,720
01 =LHAHI 6,880 8,600 A1,720
OLEHRRA 800
ORIDILE, 2rE3l2] HIXI0HY, Hete] S &4 3,360
Odct=E MesFa stitsStizl It 2,720
306 EG= 23,001 21,19% 1,89%6
01 &%= 23,091 21,1% 1,8%
ONLNSTE B2
23,091,000& » 14 23,091
INE T R 760,313 763,257 N2,944
= 188,988
Al 571,325
NZAl St 362,320 371,320 /9,000
201 ger=3| 306,000 316,000 10,000
01 At 2|l 44,000 44,000 0
OUXA s58 NXZRIH 29 (20)
7,000,000 +2CH 14,000
OXIEAl LXA S 4] 30,000
2 s5=34l 262,000 272,000 10,000
OXIZAl DXM, HUE S LS EI(LEt
.S71) 262,000,000 262,000
202 04| 52,080 52,080
01 2K 52,080 52,080
OXIgAl FUHS =0
140,000 +31H 122 52,080
203 HR=H] 1,000 1,000
03 A=A RN 1,000 1,000
OMISI AR 1,000
405 AtatE = 3,240 2,240 1,000
01 ML ESF SHI 3,240 2,240 1,000
OPC 7¢& 1,120,000 *2CH 2,240
OxZgle+¢g 1,000,000 *1CH 1,000
XL ASAH SAF &0 2 4,7% 5,543 NT87
101 e124d| 4,016 3,920 %
M ORINZZ2NSE S 4,016 3,920 %




SA: AR

ma: W X

Rl NN &S EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OMQANYASH AlDHel HREFIS
80,3202 x2% %252 4,016
201 e 740 1,623 8833
01 At 2telt] 740 1,623 A\883
OMANYASH ADHEISY SEH|
(ZEH 9 83) 740
DHKE EAF L HH| 15,261 14,8% 365
101 @124 15,261 14,8% 365
M IIZH2ERS RS 15,261 14,8% 365
OTHAKI DHMISEIE DMRIE FHH| L
AEE EXNFE ZARITY
80,3202+ 124%190 15,261
EELBIEIEIN 377,976 371,498 6,478
2 188,988
Al 188,988
101 @124t 113,894 111,650 2,244
= 56,947
Al 56,947
VPIEI PP 113,894 111,650 2,244
ONgzel SHZA =X 122(12) 113,894
= 56,947
Al 56,947
201 et 258,082 253,848 4,234
=2 129,041
Al 129,041
01 AlR2r21H 258,082 253,848 4,234
OMEFEIA AE542 237,682
ol.1 JIFE AZ%4E 6,70021%34,6175 231,934
= 115,967
Al 115,967
6.1 JIFE AZ422 6,70021+5005 3,350
=2 1,675
Al 1,675
0ANE BEL42 198
= %
Al %
00|2AH AZ442 200
= 100
Al 100
oIZA BSFY AFL4B 2,000
=2 1,000
Al 1,000
OFHEY ZABAAQINLI|EIL e N
bl 20,400




SA: AR

Ha: W K

Rl NN &S EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 10,200
Al 10,200
202 04l 6.000 6.000 0
= 3,000
Al 3,000
01 2L AL 6,000 6,000 0
OINEFEIA AL =X 6,000
= 3,000
Al 3,000
Y2 AU (M) 35,299 37,875 A2,576
=3l 35,299 37,875 A2,576
Jl=23H] 35,299 37,875 2,576
201 fer23| 30,139 32,715 N2,576
01 AtR2t2|HI 23,210 25,786 A2,576
OSAEAl 7Y 23,0002 x158t A% 123 4,140
OSAPDlL Zele EH, =8 wH 5,280
OJIEt AtR2t2HI 13,790
02 S5=2g4l 6,929 6,929 0
O3S |ALI(521,581) 6,810
ONSIHAl, NSt 288 S 2,290
oR &4 3,120
oXtERXIHI(EHl & A2F)
700,000 ~2CH 1,400
O2ol= Vald A&
9,900& 104123 119
203 HR=4AH] 5,160 5,160
MU A2 LRSI 5,160 5,160
ORAMEZE =4 430,000& 123 5,160




